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Jaime Inc. manufactures 2 products, sweaters and jackets. The company has estimated its
overhead in the order-processing department to be $180,000. The company produces
50,000 sweaters and 80,000 jackets each year. Sweater production requires 25,000
machine hours, jacket production requires 50,000 machine hours. The company places raw
materials orders 10 times per month, 2 times for raw materials for sweaters and the
remainder for raw materials forjackets. How much ofthe order processing overhead should
be allocated to jackets?

a [1$90,000

b. []$120,000

. Os110.770

d. [ 514,000

ABC Bread sells a box of bagels for with a contribution margin of 62.5%. Its fixed costs are
$150,000 per year. How much sales dollars does ABC Bread need to break-even per year if
bagels are its only product?

[ $93,750

b. [J$150,000

c. [0$240,000

d. [1890,000

What exists when budgeted costs exceed actual resuts?
[ A budgeting error

[ A favorable difference

[ An unfavorable difference

[ An excess profit
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Disclosures about inventory should include each of the following EXCEPT
a [ The basis of accounting
b

[ The costing method
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